BEENFEER DS DHHA AR OHKPOMSEES YV LREDHE

1 KEEREYDOIEERNKRSTEERE (Ba/ke)
AE HR¥E WHE | T5RFvY| Hb
=oTH 70.7 228 41.0 420 39.0
FERT= ET 69 38 1,480 510 177
=2 KEBREVMOMHEM (%)
- N . o N e ZDfth
AE iK¥E WHE | T5RFvY| Db (Smm) | Tk
=11l 40.0 0.5 0.4 1.6 0.3 36.0 21.2
FERIE BT 27.0 0.1 0.4 0.9 0.2 43.4 28.0
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KPR REGHAMYDREEL T, FEHLGWHER VTR EROVTERLT,

(R1~K3[ZDNTIE, Fri23FE8A11H (FERK23FE10811H—EHTE) BEEHARSAKYBIA)

R4 KEREYEZHENEZEOHIRADOMESEEREE (EERHR)
IZFOCADKERFEIN0% | IZLCADKREEI 5%
=) ERi=ET | =atm | EmEATh

HEH R 2 (m*N/ke) 5.8 5.8 5.8 5.8

B AR D RSTRER

 (Ba/m°N) 0.12 0.18 0.059 0.090

=5 KEREWYEZREAL-EONEEZDOHKPOMEREEE (EEFHR)
[FLCADBESREI0% | IXFLVCADKRESEIIS%
==l fERI= ETT BoT™ | BEFIEET™H

BEEMikgL=YD

HEKE (L/ke) 0.48 048

HEKP DS RERE

(Ba/L) 14 2.2 0.71 1.08

<& Z.ETHmOXEREVDOEZEDIELD

1 BREW keHT=YDEENG69Bg ke,

2 BREYNXTOISLYE-YDENZE E;ﬁ\ssm N,

3 FRIRIZI00%TEBET BHE . i ARMIREE 1= A BIREHE™ AlL.
69 — 58 = 11.9 Bg/m°N
4 #3?13“:%&%%699%[%%3& BRUNEEHEINDETHE EETOHHREEIL
119 x (1—099)= 0.12 Bag/m°N
5 HEHRIMIBEE TII%RESNT-TEYE R EECATRESNGETSE,
BEEM kgL =YDHEEKEN048LTHINIE. BRKTOHIKEE L.
69 X (1-099) — 048 = 1.4 Bg/L




